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(q) q{r{r-6 "iffi * qrrr {fi-6ivr w: 80 - 3Q ara ff tr€

i d{ B{r$ w = 30 + 2Q Erir A r{ * vEi w tfi-6

a.tr$ <( * sit q dftIr6 }rFrd * crdr *r v6 d&

rg-rra * sr{, +C adRa 1 ryffi d fi d qr<

6ut Brk q{dc te< t oz cfr ft-{ FrqiRd fi frcr

q g{6l vgtr{ rr$ d{ a-ft rr€ Trdr qt Hr qqrq

GrTr?

(a) Show that value of marginal product of labor is

also the demand for labor. What are the factors

that affect the demand for labor? (8)

(b) Write down the conditions for shutdown of firm
and exit from the industry. Are both same? Explain

with the help of diagram. Q)

(er) ffi ft ryq * frcrd :relrE -nT au $ "n * *tr

ir "rq fr qrtT d cqTh-d 6r+ sr& q.rco ott t *?

(s) s{ + a-{ A+ sfu s+.r t qr6r ffi fr rrd frRsSt

wr ffi- w ++ *? i{t{s fr rewdr } qq dfu{t
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(a) Draw a circular-flow diagram. Identify the parts

of the model that correspond to the flow of goods

and services and the flow of dollars. (5)

(b) Why is trade-off unavoidable? Does it have any

relationship with scarcity? (5)

(c) Is absolute advantage or comparative advantage

more important for trade? Explain your reasoning

using the example. (5)

(er) c+. Tf,lr6R-!-sr6 srtcs ffir{sr {sa * s-,r ffi d
Fffii 6i * -qs} ofu +cmt" d c-cr6 *r tidr *
c-{E d BrE6c +r

(q) er qa qr{ * fr q-6 q1 + yk + oriur qqe ffi
*? qfr d * ccgffi ft-e * qE.rc-dr t Et arrksr

(a) "Difference between economic cost and accounting
cost is the implicit cost." Do you agree with this
statement? Explain. (4)

(b) Draw the marginal-cost and average-total-cost
curves for a typical firm. Explain why the curves
have the shapes that they do and why they cross
where they do. (6)

(c) The demand for port workers is given by the
equation W = 80 - 3Q and the supply is given by
W:30 + 2Q where W is the daily wage rate and

Q is the quantity of port workers. After a lengthy
strike, the Port Authority accedes to the workers'
demands and enacts a minimum wage of Rs.62
per day. What is the impact on equilibrium wage

and quantity sold? (5)

(si) 'urf{-o arrra *t fu++ arrra + Aq ird{ frFfr
drrrf, +t" Fn urc Es 6qa fr q5q6 *? rrsrslr

(<) vo Gfrte u{ d frs ffi -arrd sfu etao-1a-ar.n
si6 sqrgt €mTS fr qd + 3nnR d E]+ e fr a

srt e sfu a 
"161 
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6 (a) A person consumes two goods wine and cheese.

The price of cheese rises from Rs. 60 to Rs. 100

per Kg, while the price of wine remains Rs.30

per glass. For a consumer with a constant income

of Rs. 3,000. show what happens to consumption

of wine and cheese. Decompose the change into

income and substitution effects. (6)

(b) Draw the indifference curve for someone deciding

how to allocate time between work and leisure.

Suppose the wage increases. Is it possible that

the person's consumption would fall? (5)

(c) ls it possible that savings falls due to rise in

interest rate? tf yes then show it using the suitable

diagram. (4)

(sr) vo qk A rc3i'fr rnrs *r qft1 51 Q-aa or<r

ir qftt d q1cil tva t eE uTff ir oo t t too wt
,6 ffi, iasfr {r<rs fr frffi nqt qft g{ *r so cR

Frorqr wa d Frffl 3{rq sra 3q+{dT * ftgr s,ooo,

M ft rnrq *t qft d t-++ qr er *tr tr enq

ilk qfteffi{ cqrfr q cffiT d Frqtr< dftqt

(s) 6rc ailr imfl{r * 6-q <.rq slrqt{ 6G 6r trc e+
'ele ffi qEffi + ftq s{rfi-{il siF qq(r qr{ frhq
+ffi Tdfl *r wr qc qrrd * fu qk fr rsTd FR

fl\ff?

(s) +{-t{ 3rqM d- lz wr s{sr srqrq + +{ frr
t?

(r) wt qIqR + frs E"i dn{ qr gilrriffi' dFr glfufi

qEF{qd *? 3{r&q d Fdrrrdr t 3Ic+ R-d fr qrcqt

frfrqr

Explain using diagrams, How the impact of imposing

the tax on cigarettes will be different from creating

awareness about its harmful effects. (6)

srRla 6l scfrrr q-<d H€ 6t ft ffie w 6r drn+ 6r

eqrs y(+ eql+ + sR t qrrrcror +4r sr+ t
++ tu< arll

Using the concept of economies and diseconomies of

scale, explain the shape of a firm's long run average

cost curve. How are the short run average cost curve

related with the long run average curve? (9)
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4 (a) Which causes a shortage of a good-a price ceiling
or a price floor? Justify your answer with a graph.

(b) Given the demand and supply curves of potatoes,

Qd = s00 - 5P, Qs = lOP - 400, (ed is the
quantity demanded, Qs is the quantity supplied and

P is the price of potatoes) find the equilibrium
price and quantity of potatoes. Determine the
quantity demanded, the quantity supplied and the
quantity traded of potatoes as a result of price
ceiling of Rs. 50. (5)

(c) Market demand function is given by Qd = 90 - 6P,
Market supply function is given by Qs = 4P - 20.

Determine producer surplus, consumer surplus and

total economic surplus at the equilibrium price.

(6)

(et) d vo qq d o,ft ol tnRsr i{86-im Tq ft<r qr

qrdc {s ftqr q+cr li srq} sr-r d gfu \-s. um
ERr dftql

(s) BrT-( d cr:T Brk iilEffi s-6] +t H Eq, ed:500 -
5P, Qs = lOP - 400, (ad {Fr iff crdr *, es Bilfffi

fr qr=n t efu p .r.( fr *rd *) rgm{ E€ ft
]II?r qr qi drlls 3rrq so tqt erko-cq Tq +cr +
qfurmscq qrrr d.r{ qr*r, sn$ d rr€ arx *t srq
+ 6r+iTr fr cnr firfR( dfrs r

(v) vun frrr q-er+ ed = 90 - 6p anr Rqr vnr *, qrdR

1ffi wtra es:4p 20 Eru ecr umr ir vgr+ dq-e
qt ffiil BrErAq, vq+qilT Breriq 3ik aE ilftfi
erfu*q ql fuifivr dftsr

(a) Demand and Supply functions are given as

Qd : 180 2P, Qs : P - l5 respectively. Calculate
price elasticity of demand and supply at the
equilibrium price. If a tax of Rs. 2/unit is imposed

on sellers, calculate the effect on the price paid
by buyers and price received by sellers. (8)

(b) If the government allows Indians to import and
export textiles, what will happen to the price of
textiles and the quantity of textiles sold in the
domestic textile market? (7)

(er) qm *l 3n$ sEFr Frrur: ed=180-2p, es:
P 15 + 6c + fts w *r r-ga-r rfrft vt cr{r *r
dTgfr qi1 dTfr atq fr rrvpa frftq1 qF ffior*.n
2 \c+ 4i" rrr 6l vrrq qrrr l, i rsi-drit- Erir

yJTaT{ fr rt dTd Bft ffidisti ERr yrqT Ts q{ qrTls

fr Tur+ dfuqr

(q) qR rcon $n ftal.. qJ ee snqn ifu FEid s+ fr
srgcfr tft +, A e-q+ d frnd *t *o arsr ErwR

+ +i qr+ qTe q€n- fr qr* qr wr *m?
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